
1. Horst Löffler2. Werner Bickel3. Peter Hartmann
Viertelfinale Hauptrunde

Thomas Schneider - Bernd Rochling 2:1Armin Schneider - Horst Löffler 1:2Werner Bickel - Achim Schneider 2:0Manfred Haus - Dieter Krauskopf 2:1
Halbfinale Hauptrunde

Thomas Schneider - Horst Löffler 0:2Werner Bickel - Dieter Krauskopf 2:0
Finale Hauptrunde

Werner Bickel - Horst Löffler 0:2
Halbfinale Trostrunde

Armin Schneider - Peter Hartmann 1:2
Finale Trostrunde

Peter Hartmann - Werner Bickel 1:2
Endspiel

Werner Bickel - Horst Löffler 0:2


